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1- Before you ------—-- -- to the next question, you should take some time to make sure
vou’'re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute ~—-——- ; the kids spilled food all over the
Kitchen and they wouldn’t listen to anything [ had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --————-- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used ---=---—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a ---------- matter.
1) contradictory ~ 2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -—--——-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -—---em-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—--—-—- ,' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
"""""" dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --——-—— their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

Sits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) ————m—-—- the desired crop relatively unharmed.
Some of these act by interfering with (12) -===-====- and are often svnthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites, railways and railway
embankments are not selective (13) ==m—mem- all plant material with which they come into
contact. Smaller quantities are used in forestry, pasture systems, and management of areas
(14) ~==---—--- as wildlite habitat.

Some plants produce natural herbicides, (15) ===-eeemx the genus Juglans (walnuts), or the
tree of heaven; such action of natural herbicides, and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill



14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following tow passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

A stump grinder or stump cutter 15 a power tool or equipment attachment that removes tree
stumps by means of a rotating cutting disk that chips away the wood. Stump grinders can be
the size of a lawn mower or as large as a truck. Most accomplish their task by means of a high-
speed disk with teeth that grind the stump and roots into small chips. A typical stump grinder
incorporates a cutter wheel with fixed carbide teeth. The cutter wheel movements are
controlled by hydraulic cylinders to push the cutter wheel teeth [aterally through the stump and
to raise and lower the cutter wheel. There are also other types of stump grinders. special
equipment that are applied to tractors, excavators and other construction equipment: vertical
stump grinders. These machines can completely destroy the roots of the trees in a few seconds
or recover the central part of the roots. They are usually used in the woods. for plant biomass.
for the forestry sector, for the maintenance of green areas. etc. They can destroy an entire root
of 50 em in diameter to more than one meter deep in 30 seconds. Studies have shown that the
normal stump grinder (with disk and teeths) eliminates the most of the first 20-25 cm of
stumps. but for stumps with big diameter the problem is not solved as the plant can repel.
Instead with the vertical stump grinder can destroy completely the tree stumps permanently.
These machine can destroy a stumps with 150 ¢cm of diameter without problems. They can be
either applied on tractor (the mechanical versions) or on the excavators and others earth
moving machinery (the hvdraulics versions).

16- We may understand from the passage that...............
1) plant biomass is used as fertiliser for green areas
2) grinders have a cutter wheel fixed on carbide teeth
3) vertical stump grinders do not have disks and teeth
4) large tree stumps are usually less than 75 cm in diameter
17- The passage suggests that a typical stump grinder..............
1) can incorporate excavators and construction equipment
2) grinds the stump into small chips similar to damaged roots
3) pushes the cutter teeth through several hydraulic eylinders
4) cannot destroy completely the tree stumps permanently
18- The passage points to the fact that vertical stump grinders..............
|} were developed for the forestry sector in the 50s
2) have parallel disks at a right angel to their teeth
3) are used on stumps with a diameter over 25 cm
4) can dig the stump to a depth of about 2 metres
19- It may NOT be concluded from the passage that vertical stump grinders
B s
1) as large as a truck 2) used in tree nurseries
3) mainly of two types 4) so fast in their job



20- The word ‘laterally’ in the passage (underlined) best refers to a........c...cu. direction.
1) sideways 2) backwards and forwards
3) upside down 4) up and down

PASSAGE 2

Centre-pivot irrigation (CPI). also called waterwheel and circle irrigation. is a method
of crop irrigation in  which equipment rotates around a pivot and crops are watered
with sprinklers. A circular area centred on the pivot is irrigated. often creating a circular pattern
in crops when viewed from above (sometimes referred to as “crop circles’). Most centre pivots
were initially water-powered. and today most are propelled by electric motors.,

The center-pivot irrigation system is considered to be a highly efficient system which helps
conserve water. Center pivot irrigation typically uses less water compared to many surface
irrigation and furrow irrigation techniques. which reduces the expenditure of and conserves
water, It also helps to reduce labour costs compared to some ground irrigation techniques.
which are often more labour-intensive. Some ground irrigation techniques involve the digging
of channels on the land for the water to flow, whereas the use of centre-pivot irrigation can
reduce the amount of soil tillage that occurs and helps to reduce water runott and soil erosion
that can occur with ground irrigation. Less tillage encourages more organic materials and crop
residue to decompose back into the soil, and reduces soil compaction.

Early settlers of the semiarid High Plains were plagued by crop failures due to cycles
of drought. culminating in the disastrous Dust Bowl of the 1930s. It was only after World War
I1 when center pivot irrigation became available that the land mass of the High Plains aquifer
system was transformed into one of the most agriculturally productive regions in the world.

21-  According to the passage,....oieiiiiinns

1) centre-pivot irrigation did not exist in the 19305

2) CPI depends on soil tillage for ground irrigation

3) water finally flows in underground channels in CP1

4) the High Plains aquifer system is in southern Canada
22- It is mentioned in the passage that............

|} ground irrigation techniques are labour-saving

2) CPI is a kind of waterwheel and circle irrigation

3) ‘crop circles” result from centre-pivot irrigation

4) in crop irrigation water passes through sprinklers
23- It is stated in the passage that............

1) there 1s relatively little water runoff in CPI

2) furrow irrigation techniques conserves water

3) centre pivots used to be propelled by electric motors

4) less tillage and erosion leads to more soil compaction

24- The passage is mainly about.............

1) how CPI machines work 2) the benefits of CPI

3) CPI manufacturers 4) nsks involved in using CPI
25- The word ‘decompose’ in the passage (underlined) is closest to.............

1) lie down 2) set up 3) settle down 4) break up



PASSAGE 3

The Rotolactor is the first invention for milking a large number of cows successively and
largely automatically using a rotating platform. The Rotolactor was a large rotating "merry-go-
round" style platform for holding 50 cows. The machine brought the cows into position for
milking with automatic milking machines. The rotating platform machine was sixty feet in
diameter and made one complete revolution about every twelve and a halt minutes. The twelve
and a half minutes was the time required to prepare and milk each cow. The first step for cach
new cow was receiving a bath. The cows were bathed with warm water and automatic showers,
supplemented by two men using pressure hoses, who devoted their attention to the cleansing of
udders and flanks. The next operator prepared the udder for milking. Then the teat-cups of the
automatic milking machine are attached to the cow's udder. The cow is then milked during the
Rotolactor's one-time complete rotation. The teat-cups would then be detached at the end of the
twelve and a half minute rotation. The cow would then step off the platform and return to the
barn to her stall. The milk was drawn by a vacuum to sealed glass containers above the cow’s
head. It was then transported in pipes to weighing and recording apparatuses. Then it was piped
to another room where the milk is cooled and bottled. This was faster and more efficient than
the old methods previously used. Human hands never touched the milk and the milk never
came into contact with air, It was important for the milk not to contact air to prevent premature
spoiling. The Rotolactor could milk the Walker-Gordon dairy's 1,680 cows three times
daily. This produced 26,000 quarts of milk.

26- The passage points to the fact that in milking process on the Rotolactor.........
1) the cow’s udders did not get automatic showers
2) machines are used to place the teat-cup on the udder
3) up to about 26.000 quarts of milk can be produced
4) Rotolactor's rotated two times for milking to finish
27- It is mentioned in the passage that in milking process on the Rotolactor............
1) pressure hoses were used on the cow’s udders
2) about one third of the milk gets spoiled prematurely
3) glass containers for milk were filled with vacuum
4} milk was cooled and recorded before it was cooled
28-  According to the passage,............
|} Rotolactor was sixty feet wide and some ten feet high
2) Rotolactor would do one full circle in 12)5 minutes
3} each new cow received a bath before and after milking
4) cows were milked twice a day on the Rotolactor
29- It is stated in the passage that after milking process on the Rotolactor, the

ﬂﬂw.... e
1} would get wiped on her udders 2) stayed on the platform for cleaning
3) was returned to her barn or stall 4) would be weighed and cleaned

30- The word “devote’ in the passage (underlined) is closest to.............
1) *lay’ 2) *give’ 3) “take’ 4) “get’
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